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DSE-P4-SANSKRIT (604)

Time Allotted: 2 Hours Full-Marks: 60

The figures in the margin indicate full marks.

The question paper contains DSE-4A and DSE-4B.
Candidates are required to answer any ore from the fwo papers and they should
mention it clearly on the Answer Book.

DSE-4A
Unit-I
1. U SR IeT — 6x1=6
() TATRUREIVR ERGTeI e J{aeT quiH1a |
(@) “SIRTETIpTET SRY ATEh TP YeTerer o o | Srefie=ar |

2.z aor el prf — 3x2=6
(@) e e |
() STRREARRT A Fghl: WHur |
() SHEER AT |

3. e SR gogH — (YUUIF) 1x6=6
() Srergf: Bef foparet 2
() TRFEI: qUIw P U ?
() XERRYddRT avi 7 aid ?
() SEEIT AT foreaear 2
() VTEIFREY T geiT: & 2
- () TR T S — T e |
(B) YEITIURY HRUH Seelea |

() TG EITIT: FaiT: 5 2
(37) AR TeorT: PRAT T YT ?
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4. oo uRderEET S Rrvrmerige wfemeHTereeT |
3reraT
SR TR I Fo=H: AT |

5. WU Eg: SR TRTH —
(@) “RrafRE-d-aTs: 3R Tk T Teca e |

(T) VRIS TRASTITAT T |
() RGP TR, Terede |
Unit-I1I
6.  HETIRET 3T AT aReeRITAT SeueoreE |
areraT

“pTRId: BIfeaTd:"— SHiE o |

7. e F: St v —
(@) REfERRIRY Hred gRe@ui= |
(@) FereRT, SR ifrepTedr AEre AR |
() "I — T URITET |

8. TR ST WG (YUUIFY) —
() “HETFHIG-aer g e e Te: ?
(@) TR g frRRgDe 57 2
() AR $F G 2
(¥1) ‘W—q@mﬂfﬁaﬁiﬁwuﬁmwm?
(&) T NfIRM™O HRAT HIUS IRGIUAT GRI 7
(=) faremee: aviT HRAT Dl Fea ?
(®) TRI: 3T ey FHT T 2
(1), FRruiRerieerT: BRe g aRuea 2
(87) HRA TP VAT T8 BT FIATAC |

DSE-4B
Unit-1
1. TR Tod | —
(@) IETFRIEEHATS U&: Uawe: a1 |
() IS SFafrepIat: Py el ar Gfer: ?
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2.z Rl erf -
AAN: | gFa=a: , Sfae: |

3. fRrERR I (F49T)
() TR & ARihRe: P 3T ?
(@) TR P: AT ? DY I TA: 2
() AT o IR ? T ARG Tee: & ?

Unit-1I
4,  THEIIER IO —
(F) HTHRI-UGAT ST TR aweeh forae |

5. 741: fewoft srf —
s, Ferereon , e

6. WfAHT HoT (YOUIRY) —
(@) ‘TIELT:’ B ?
(%) & T "SR 2
(T) &Y T 3YdS: 2
(¥1) YIS N ?
(S) ATAAD HTGAS: BT HETIa: 2
() A B I S ?
(B) F: AT IR T ?
() “TSIARg: P, HART ?
(¥) TGS G F TR ?
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